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L0+ 10 add three one digit numbrs (adding smallest narmbers frst)

o Adding Numbers

Ring the two smallest numbers and add, then add the third rumber 10 make the

ot
1249430 11.3+5+6= 213+6+8=
2745424 12843+4= 226+74+8=
3.74344= 1334842+ 23.4+7+9=
494244= 1434541+ 24.7+5+8=
524946 1584346 25.9+3+8=
62+9+3= 16.54943= 2.4+8+9=
7.6+943= 17.44745= 27.742+5=
8841472 1874945 86+3+8=
0.9+2+3= 1924449= 29.7+9+6=
10.246+7=___ [201+6+2=___ |3094748=___

Challenge.can you wse 2 pairs of doibles to make sets of & o numbers? How
many different totals can you make? Do you notice anything shout the ttals?




